EARAROBEEIERT — 2 N— IBISH —F

20178118298 (k) 15EIK##3H

IR 5% 3% 1537k

‘ [Riz] ¥ ‘ [REBE] — | & (&) 12000 FHE

[AE<%] 1 7% :1,200,000 F ~ 2 7&:480,000 F 3 7 :300,000 4

4 7% :180,000 F 5 3& :120,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- . - FBEA 15, - . — BB (/1K)
1 2 S X F T % 3 b 1(1_5)7 1-1 39.3 1 ;1256) uﬁ?@z
g/ ovveTe BiY—AXRTI39 Fy o amEEMRASH MY adK
op o N EHEZ :15. = . — KiZEZ (KH)
2| 7l10| 2> by 73— 9 56.0E (11 115/‘?) 3 .1 2 (4_957) »;Ejé%?ﬁ:
R:7A7% B:AFA M) —F1X EEEEAS
N HEIGIhE : — - HaAR—K (KH)
3lgli3|F9r>T17 Y IR i (11'116/'J> &7 %9 ! ?_513) ch [ 5255
A9 TI—2) B:Y—FhyE—-2X puie ]
RGN el Fmt :16. = . — ZIRERIE (/)\HE)
al5lg|¥rTr=—7 "3 o foush ze | BT ° 5 |mame
R:TFyTaAK BiU—FNTY INEET 7 — L
. = 4 3 | BEEX 1:16.2 6-5 39.0| — 7 458 | =IREEHE (/1K)
5111 | ¥vZ7ALT1— 54.0 (3/4) (o) | EHERX
RBALINT Ry IR BU—Rr—F427 T 7 — L
= > 4 3 | B 1:16.5 3-4 39.8| — 8 488 | EEBRIK (KH)
6 9 77X ME—=F 56.0 (11/2) (-4) ARIRE
R:vayr>h>7 B:74—/—T> HET77— L
REETT : = — FRABATE
7 3| Uy Yy #3 | 1(71?:33 12-12 | 38.3 9 (421312) ﬁéﬁ (K#)
QFHYTTIAE BTRU IR b= b D =X gy
. 3 | BEE 1:16.9 9-9 39.1| — 10 423 | USHEES (KH)
sl s t—-2-o=> 5.0 (1'1/2) (7) | ZE=mE
RARYTFRYT—/ Bid—F—XoU—% B B
. 3 : 3 | BEEEZE 1:17.0 6-8 39.8| — 6 469 | MAEE (KFH)
957 |PvF-—T7L—FK £254.0 (1/2) e
LAY RTAY BT TI—N—k EiE ®
43 | HlsR 1:17.3 10-11 [ 39.4| — 13 | 508 |/NEFSFEEE (V)
ofz|1|7—-+t7-292 56.0 (1172 Lo | KARER
LNAT—4—L B:7—brAT> KEHS
S ; 4 3 | BBXS 1:17.3 11-10  [39.4| — 11 451 | BEER (KH)
] 5 AY¥YUA T — 54'7,3 (71) 1) (#%) E=Midgar
RHTIRTAT B —RY T — B
S 2 3 | TREA 1:17.5 4-6 40.7| — 3 M4 | RIR (KH)
12/8]12| > ¥ 7V 5.0 (1 1/8) (g | BlER
R:F4—TA1>N7 b B XA/ 4> Ed:ibie)
5 N S + 3 | HTEER 1:17.6 13-13 39.2| — 12 490 | SHIAREZ (KH)
1300 4| T>EFY—R g 56.0 (7€) () | B 1274
R:TIv78%>—K B:a ¥%-—hro1—> < IVt B ARNS
® I—F—@EBIERL
13—-7-
23—7F—
33—+ — 2,6,9,(10,12),(1,7,13),8,11,5,3,4
43—+ — 2,6,10,9,1,12,13,7,8,5,11,3,4
[ N5
B 2 1509 794K 2-10 200 & 2-7 370 &R 2-10-13 800F4
# B 2 1004 2-13 220 B 2-7 660M EE 2-10-13 2,010M
10 140M 10-13 420M B = 2-10 490M
13 160/ B H 2-10 610M

ABICOVWTRDTEEERROODE. TR LIV,



